Test Bank, Chapter 1
Hauser-Cram/1e


1. [bookmark: _GoBack]Who described the newborn’s world as “one great blooming, buzzing confusion”?
A. T. Berry Brazelton
B. William James
C. Henry James
D. Jean Piaget
Ans: B
Section Reference: Children and Their Development
Learning Objective: LO 1 
Difficulty: Easy
Bloom: Knowledge

2. Who said the newborn behaves in a complex and competent manner?
A. T. Berry Brazelton
B. William James
C. Henry James
D. Jean Piaget
Ans: A
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge


3. For change to be developmental, it must be
A. systematic, efficient, and orderly.
B. systematic, sustained, and organized.
C. successive, regular, and logical.
D. systematic, successive, and organized.
Ans: D
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Comprehension


4. Developmental psychologists typically divide their analysis into three general domains:
A. physical, cognitive, and psychosocial.
B. physical, spiritual, and emotional.
C. physical, emotional, and neurological.
D. physical, moodiness, and cognitive.
Ans: A
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge

5. Choose the answer that is true regarding the major domains of development.
A. Each period has separate domains.
B. The domains are separate and unique.
C. They are broadly divided into physical, cognitive, and psychosocial.
D. Psychosocial has little relevance to the others.

Ans: C
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Comprehension



6. During which period of development does the nature of the child’s personality become evident?
A. prenatal
B. infancy and toddlerhood
C. early childhood
D. middle childhood

Ans: B
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Comprehension

7. Children become more involved in the world of symbols during which period?
A. adolescence
B. early childhood
C. middle childhood
D. infancy and toddlerhood
Ans: C
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge

8. Age alone is a good estimator of
A. a child’s maturation.
B. the underlying mechanisms of development.
C. only expected maturational guidelines.
D. where cognitive development is currently.
Ans: C
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Comprehension

9. Elizabeth believes that her child’s ability to use language is due to the way she talks to the child. Her view is typical of
A. nature
B. nurture
C. cognition
D. plasticity
Ans: B
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge

10. If you believe that you are the same person now as you were in childhood, you hold a ______ view of development.
A. continuous
B. discontinuous
C. stage
D. slope
Ans: A
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge





11. Sarah believes that development takes place in stages where children change quickly as they step up to a new level. She believes development is
A. continuous.
B. discontinuous.
C. nature.
D. nurture.
Ans: B
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Easy
Bloom: Knowledge

12. Greg thinks the difference in maturity and immaturity is complex. He sees development as
A. continuous.
B. discontinuous.
C. nature.
D. nurture.
Ans: A
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Knowledge

13. The stage concept assumes that
A. development is smooth and continuous.
B. change happens suddenly.
C. infants and children respond the same way as adults do.
D. development is a process of gradually adding skills.
Ans: B
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Knowledge

14. The stage concept assumes change is
A. sudden.
B. gradual.
C. ongoing.
D. unique.
Ans: A
Section Ref: Children and Their Development
Learning Objective: LO 1
Difficulty: Medium
Bloom: Knowledge

15. Parenting is a(n) _______process.
A. static
B. authoritarian
C. dynamic
D. authoritative 
Ans: C
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Easy
Bloom: Knowledge
	
16. Current researchers have found that today’s children show ______ emotion during pretend play as did children several decades ago.
A. about the same amount of
B. more
C. less
D. different kinds of
Ans: A
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Easy
Bloom: Knowledge

17. Which approach to studying children does your text recommend?
A. The mother–child relationship
B. The father–child relationship
C. unidirectional
D. family systems
Ans: D
Section Reference: A Child’s Journey in the 21st Century
Learning Objective: LO 2 
Difficulty: Easy
Bloom: Knowledge 

18. What type of relationship do researchers believe to be typical of the parent–child relationship?
A. unidirectional
B. bidirectional
C. multidirectional
D. child-centered
Ans: B
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Medium
Bloom: Knowledge

19.  “Enculturation” means
A. considering the impact of culture on a child’s development.
B. customs, values, and traditions.
C. transmitted culture across time and generations.
D. learning the customs of other cultures.
Ans: C
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Medium
Bloom: Knowledge

20. Barbara Rogoff found that human learning and development are _______ processes.
A. natural
B. cultural
C. individual
D. familial
Ans: B
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Easy
Bloom: Comprehension 


21. Culturally shared belief systems about children’s development and parents’ roles are known as
A. enculturation.
B. ethnotheories.
C. culture ethnicity.
D. ethnocentrism.
Ans: B
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Medium
Bloom: Knowledge

22. In the United States, what approach do many parents take in order to understand a child’s disability?
A. religious
B. scientific
C. supernatural
D. familial
Ans: B
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Easy
Bloom: Knowledge

23. In what activity (excluding sleeping) does the average child spend more time?
A. reading
B. exercise
C. media
D. face-to-face conversation
Ans: C
Section Ref: A Child’s Journey in the 21st Century
Learning Objective: LO 2
Difficulty: Easy
Bloom: Knowledge


24. Freud’s theory of psychosexual development
A. was developed by observing his own children.
B. has eight stages of conflicts to be resolved.
C. was developed through talking with emotionally troubled adults about their childhoods.
D. emphasizes how parents manage children’s fears.
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

25. Freud’s psychoanalytic theory attributes personality development largely to
A. unconscious sources in the mind.
B. conscious sources in the mind.
C. environmental factors.
D. none of these
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3 
Difficulty: Medium
Bloom: Knowledge

26. Freud’s patients consisted of
A. the lower-class members of Viennese society.
B. the middle-class members of Viennese society.
C. the upper-class members of Viennese society.
D. members of each tier of Viennese society.
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

27. The _______ contains basic instincts and seeks to secure pleasure.
A. id
B. ego
C. superego
D. none of these
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

28. According to Freud, which of the three elements that influence personality development is the key element in personality?
A. id
B. ego
C. superego
D. all three
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

29. True/False: The superego struggles to find compromise between the id and the ego.
A. True
B. False
Ans: False
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


30. Identify the correct chronological order of Freud’s psychosexual stages of development. 
A. genital, latency, phallic, anal, oral
B. phallic, latency, anal, genital, oral
C. oral, anal, genital, Phallic, latency
D. oral, anal, phallic, latency, genital
Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

31. Psychosocial theory focuses on
A. the impact of one society on another.
B. the effects of social interactions.
C. the result of an individual’s removal from his or her environment.
D. the reinforcement of an action to alter a behavior.
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge


32. In each of Erikson’s eight stages of development, he believes that individuals experience _______ in their emotional equilibrium.
A. turmoil
B. unrest
C. crisis
D. confusion
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

33. Resolution in each of Erikson’s stages of development occurs as a result of
A. family.
B. culture.
C. family and culture.
D. none of these
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

34. Five-year-old Steven is initiating activities and mastering new tasks. Identify the appropriate stage of development Steven would be classified in, according to Erikson’s psychosocial stages of development.
A. trust versus mistrust
B. autonomy versus shame, doubt
C. initiative versus guilt
D. industry versus inferiority
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Comprehension

35. Constructivists focus on how children construct knowledge.
A. True
B. False
Ans: True
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


36. Information-processing theory focuses on how children
A. pay attention to information.
B. remember information.
C. develop strategies about information.
D. all of these
Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

37. Piaget’s stage theory proposes continuous development.
A. True
B. False
Ans: False
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge


38. Schemas are
A. mental structures that represent things an individual has experienced.
B. abstract images of events yet to occur.
C. documented accounts of events that one has experienced.
D. none of these

Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


39. Schemas change over time through 
A. adaptation.
B. assimilation.
C. accommodation.
D. none of these
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

40. “Assimilation” means to
A. fit something into a mental structure that already exists.
B. accommodate another individual’s idea.
C. adapt to new surroundings.
D. fuse one’s ideas with those of another.
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

41. According to _________, all children pass through the same four stages of cognitive development and in the same order.
A. Piaget
B. Freud
C. Erikson
D. Vygotsky
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

42. According to Piaget, organization and adaptation are inseparable.
A. True
B. False

Ans: True
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

43. According to Piaget’s psychosocial stages of development, can children regress in development?
A. Yes
B. No
C. It depends on a number of factors.
D. Not enough information is given.
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

44. Piaget’s stage theory has been criticized because
A. some critics believe that development is more continuous than Piaget’s stage theory suggests.
B. some critics believe that Piaget underestimated the abilities of younger children.
C. some critics believe that Piaget did not use a large enough sample when testing his theory.
D. all of these

Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

45. Information-processing theory attempts to explain what’s going on in the human mind as it acquires processes, retains, and comprehends information.
A. True
B. False

Ans: True
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


46. A benefit of the information-processing theory is that
A. it offers specific and practical guidance to those helping children to learn.
B. it gives broad interpretations for learning, thus allowing the instructor the freedom to develop his or her own methods of teaching.
C. it enhances already confirmed techniques of teaching.
D. it affords the student the freedom to disagree with the instructor’s method of teaching and to develop their own learning method.
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

47. Learning theory focuses on _________ behaviors in development.
A. subconscious
B. innate
C. learned
D. automatic

Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

48. What is classical conditioning?
A. the eliciting of a response from the pairing of two stimuli, one neutral and one unconditioned
B. the eliciting of a response regardless of stimuli
C. a common technique used to train children how to behave in society
D. the pairing of a dependent variable and independent variable in eliciting a response

Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

49. Watson demonstrated ___________ in teaching Little Albert to fear rats and other furry animals.
A. positive reinforcement
B. negative reinforcement
C. classical conditioning
D. operant conditioning
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


50. Negative reinforcement refers to a consequence presented after a response that makes that response more likely to happen in the future.
A. True
B. False

Ans: False
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

51. In operant conditioning, the introduction of something that a person finds unpleasant is referred to as
A. positive reinforcement.
B. negative reinforcement.
C. positive punishment.
D. negative punishment.
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

52. The times when a particular experience (or lack of it) has a profound effect on development are referred to as
A. critical periods.
B. sensitive periods.
C. periods of necessity.
D. crucial periods.
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

53. Which of Bronfenbrenner’s systems consists of settings in which the child is not present but which influence a child’s development?
A. microsystem
B. mesosystem
C. exosystem
D. macrosystem

Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

54. If you wish to study a child’s development in the child’s natural environment, you will utilize the theory of 
A. John B. Watson.
B. Albert Bandura.
C. Konrad Lorenz.
D. Uri Bronfenbrenner.
Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

55. Who co-founded the national Head Start program?
A. Jean Piaget
B. Uri Bronfenbrenner
C. Gilbert Gottlieb
D. Erik Erikson
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

56. The developmental systems theory identifies interactions at what level?

A. neural
B. behavioral
C. environmental
D. all of these
Ans: D 
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Comprehension


57. Identify the appropriate order of the scientific method.
A. Develop a hypothesis. Formulate a question. Choose a method for testing hypothesis. Analyze the data collected. Draw conclusions. Disseminate the results of the study.
B. Formulate a question. Develop a hypothesis. Choose a method for testing hypothesis. Analyze the data collected. Draw conclusions. Disseminate the results of the study.
C. Formulate a question. Develop a hypothesis. Choose a method for testing hypothesis. Analyze the data collected. Disseminate the results of the study. Draw conclusions.
D. Disseminate the results of the study. Draw conclusions. Analyze the data collected. Choose a method for testing hypothesis. Develop a hypothesis. Formulate a question. 
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Comprehension

58. Amy studies a group of 3-year-olds, 6-year-olds, and 9-year-olds. What type of study is she conducting?
A. cross-sectional
B. time-segmented
C. longitudinal
D. cross-sequential
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Comprehension

59. Brent studied a group of athletes from their entrance to middle school to graduation from high school in an attempt to assess physical development and the importance of training in competition and prevention of injury. What type of study did Brent conduct?
A. cross-sectional
B. time-segmented
C. longitudinal
D. cross-sequential
Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Comprehension

60. A weakness of the cross-sectional approach to research is one of the following:
A. It cannot access the change in an individual over time.
B. It is expensive. 
C. It cannot determine the cohort effect.
D. It has potential for biased observation.
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge


61. What statistic describes the degree of association between two variables?
A. ecological correlation
B. linear association
C. Variable association
D. correlation coefficient
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

62. Place the following correlation coefficients in order from strongest to weakest: 0.59, 0.87, –0.86, –1.0.
A. –1.0, 0.87, –0.86, 0.59
B. 0.87, 0.59, –0.86, –1.0
C. –1.0, 0.87, –0.86, 0.59
D. 0.59, –0.86, 0.87, –1.0
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Application

63. Correlation does not equal causation.
A. True
B. False
Ans: True
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

64. Khristy wants to determine the role of sleep in academic performance. In no specific way, she divides her volunteers into two groups—a control group that will sleep the standard eight hours a night and a second group that will sleep five hours a night. What type of study is Khristy conducting?
A. a microgenetic study
B. a quasi-experiement
C. a randomized controlled trial
D. a correlational study

Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

65. The dependent variable can be referred to as the
A. outcome variable.
B. criterion variable.
C. standard  variable.
D. both A and B.
Ans: D 
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge 
 
66. Identify the correct order of the randomized controlled trial process.
A. Randomly assign individuals to one of two groups. Implement the intervention. Researchers assess individuals, unaware of group assignments. Develop conclusion. Analyze results and compare based on group assignments. 
B. Randomly assign individuals to one of two groups. Implement the intervention. Researchers assess individuals, unaware of group assignments. Analyze results and compare based on group assignments. Develop conclusion.
C. Implement the intervention. Randomly assign individuals to one of two groups. Researchers assess individuals unaware of group assignments. Analyze results and compare based on group assignments. Develop conclusion.
D. Randomly assign individuals to one of two groups. Implement the intervention. Analyze results and compare based on group assignments. Researchers assess individuals, unaware of group assignments. Develop conclusion.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge

67. What is the difference between a randomized controlled trial and a quasi-experiment? 
A. A randomized controlled sample is always ethical.
B. In a quasi-experiment, the two groups are compared on the independent variable.
C. In a quasi-experiment, participants are not randomly assigned to groups. 
D. In a quasi-experiment, participants are randomly assigned to groups.
Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Hard
Bloom: Comprehension


68. A quasi-experiment can determine the effect of the dependent variable on the independent variable.
A. True
B. False
Ans: False
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

69. Amy observes a group of 5-year-olds for 3 weeks, documenting changes weekly. What kind of study is she conducting?
A. correlational study
B. experimental study
C. descriptive study
D. microgenetic study
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

70. Which study can be used to determine cause and effect?
A. correlational study
B. microgenetic study
C. quasi-experimental study
D. none of these

Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge

71. Ethnographic methods are derived from
A. Psychology.
B. Anthropology.
C. Archaeology.
D. Sociology.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

72. David spent a period of time in Australia observing the daily routines of the indigenous people. What type of study is he conducting?
A. ethnographic study
B. case study
C. learning study
D. observational study
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge


73. Barbara Rogoff’s study of children’s daily routines in community life in a Mayan community in Guatemala is an example of what kind of study?
A. ethnographic study
B. case study
C. learning study
D. observational study
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge
74. A case study can utilize
A. test results.
B. interviews.
C. observations.
D. all of these.
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

75. How do psychologists gather data about children’s development?
A. observational studies.
B. assessments
C. self-reports
D. all of these
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge


76. Observation involves
A. asking parents about a child’s behavior at home.
B. watching what a child does.
C. having the child write down his or her thoughts.
D. modeling a behavior and having the child imitate it.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge


77. Observation must be
A. random.
B. systematic.
C. both random and systematic.
D. None of the above.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge
78. What is a weakness of observational studies?
A. Parents can influence the observer.
B. Children will behave normally when being observed.
C. Children may alter their behavior because they are being observed.
D. Researchers will seek to validate their hypothesis, rather than remain unbiased.

Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

79. Validity refers to
A. the degree to which an instrument measures what it is intended to measure.
B. the degree to which an instrument fails to measure what it is intended to measure.
C. the degree to which a researcher implements an instrument.
D. the degree to which a hypothesis is proven.
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge

80. Reliability refers to
A. validity.
B. consistency.
C. accuracy.
D. accountability.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

81. A weakness of self-reports is one of the following.
A. Researchers may maintain a biased approach to research.
B. Children never alter their typical behavior even if they know they are being observed.
C. Reporters are not always honest.
D. Reporters are always honest.
Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

82. Assessments must be 
A. reliable.
B. valid.
C. consistent.
D. all of these
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge


83. Researchers should not report their results if their hypotheses are disproven.
A. True
B. False
Ans: False
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Comprehension

84. Before publication, Laura’s article must be peer reviewed or evaluated by
A. individuals of a similar age. 
B. individuals in the same area of research.
C. individuals who originate from a similar background.
D. individuals who have the same educational experience.
Ans: B
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

85. Jessie is submitting her research article for publication and must ensure that all parts are in proper order. In what order should she place the components of her article
A. Abstract, Introduction, Methods, Results, Discussion, References
B. Introduction, Abstract, Methods, Discussion, Results, References
C. Abstract, Introduction, Methods, Discussion, Results, References
D. Introduction, Abstract, Methods, Results, Discussion, References
Ans: A
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Knowledge

86. A literature review
A. summarizes what is known.

B. describes limitations of the various studies.
C. provides suggestions for future studies.
D. all of these
Ans: D 
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

87. A meta-analysis differs from a literature review in that
A. it is longer.
B. it provides more qualitative data.
C. it combines the quantitative results of each study.
D. none of these
Ans: C
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Medium
Bloom: Comprehension


88. Julia has decided to conduct a study that will involve participants less than 10 years of age. Before she can begin her study, she must first
A. ensure that the study will cause no harm to the participants.
B. obtain informed consent.
C. maintain confidentiality.
D. all of these
Ans: D
Section Ref: Asking Questions, Examining Answers
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

89. Jason has developed a study that he wishes to pursue during Research Seminar. However, he must first have his research assessed to determine if there are any ethical violations by the
A. American Psychological Association.
B. Institutional Review Board.
C. Society for Research in Child Development.
D. Department Faculty.
Ans: B
Section Ref: Asking Questions, Examining Answers 
Learning Objective: LO 4
Difficulty: Easy
Bloom: Knowledge

90. Erikson’s psychosocial theory of development consists of ______ stages.
A. four
B. six
C. eight
D. ten
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge



91. Constructivism was practiced by
A. Jean Piaget.
B. Lev Vygotsky.
C. Piaget and Vygotsky.
D. none of these.
Ans: C
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

92. “Organization,” in the context of cognitive development, refers to
A. the linking of one mental structure to another. 
B. cleaning out one’s childhood belongings and making room for adolescent collections.
C. a company that meets the needs of clients.
D. the agreement of one individual’s concepts with those of another.
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

93. Aiden, 4 years of age, has begun to make a connection between objects and names. He knows that a boat is a “boat” and a dog is a “dog.” Aiden is currently in which of Piaget’s stages of cognitive development?
A. sensorimotor
B. preoperational
C. concrete operational
D. formal operational
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge

94. How did Lev Vygotsky differ from Jean Piaget with regard to his theory of cognitive development?
A. Vygotsky believed that children construct knowledge on their own.
B. Vygotsky believed that children construct knowledge through the help of others.
C. Vygotsky argued that children do not construct knowledge.
D. Vygotsky aligned with Piaget’s theory and did not differ.
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

95. According to Vygotsky’s theory of cognitive development, what do psychologists use for scaffolding?
A. assimilation
B. accommodation
C. organization
D. Zone of Proximal Development

Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

96. Pavlov conducted an experiment studying the digestive processes in dogs, in which he discovered that a dog’s salivation response could be activated, over time, simply with the presence of a lab worker and no food or the sound of a bell. The association he discovered is referred to as
A. operant conditioning.
B. scaffolding.
C. accommodation.
D. classical conditioning.

Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge


97. Jackson secured the lead role in the school play. Upon receiving the news, he immediately called his parents who were elated at his accomplishment and congratulated him on his success. This response is a form of
A. positive reinforcement.
B. negative reinforcement.
C. positive punishment.
D. negative punishment.

Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

98. What technique is often used to teach children with autism spectrum disorders?
A. applied behavioral analysis
B. social learning theory
C. observational learning
D. information-processing theory
Ans: A
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

99. What is a weakness of behaviorism?
A. It cannot explain the development of language.
B. It fails to take into account individual differences.
C. It disregards cultural influence.
D. all of these
Ans: D
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Medium
Bloom: Knowledge


100. For his final project, Brad studied the impact of home environment on a child’s academic performance. His survey assessed children’s extracurricular activities. Brad’s survey is
A. valid.
B. invalid.
C. reliable.
D. unreliable.
Ans: B
Section Ref: Explaining Development: The Theories
Learning Objective: LO 3
Difficulty: Easy
Bloom: Knowledge

